Math 173 - Quiz 2
February 7, 2013
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Show all work to receive full credit. Supply explanations when necessary.

1. (1 point) Find a set of symmetric equations for the line through (3,2, —1) and parallel
to v =51+ 77 — 8k.
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2. (2 points) Find a set of parametric equations for the line segment connecting (2,0, —5)
to (3,6, —3).

- 2+(pj"+&’:

otte)
= ~5+3t
3. (2 points) Find the angle between the planes.
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4. (5 points) Consider the two planes described by the equations given below
—x+2y—32=6
2v -4y +62=4

(a) Show that the planes are parallel.
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(b) Find the distance between the planes.

\
Pourr LN 3”°pur«>&‘. (o)"\,O)

Piave 1 - -X+Ay-3z2=0

| V() +3 () - 360 -6 | “ng

Digvamvcg = ——— el ?
NGO (3) 4 (3 N

- .4

(c) Choose any two points on one plane and a single point on the other plane. Then
find an equation for the plane passing through your points.
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